XYZ,~115.18 , 100.0,, 26,59
A=256-a)Y
B=25B,(b-b)Y

B [ (X=X} 1))

b=by[z/y
=1, by =-0,4
X% 0,000,B, = 1,000

_[Az,,Bz]J?z
6 OstwaldFarben (o)
von maximalem (m)C,g im
Buntwertdiagramm (A, B)
Lichtart P25, Y, —100 Yy —50

Name Bereich X,

I
R, 562_775 9912 7123 s sand oaebr o s0z E
¥ 506775 113.287.93 14.1 05027 04346 563 478
1408 0.4415 04718552 5520
C, 380582 7382 78.91 2650 0.4116 044 502 608
B, 380506 50.65 52.21 25,82 0.4332 03791478 583
M, 582_506 10107334 25.84 05046 0.3662 5520552
W,,380_775 115.1800.0 26,59 0.4764 04136 100%
1329 04764 0.4136 50%

G 506_582 7187 76.8

N, 380_775 57.59 500

-100

1004 B

-100+

7,380 7752073 180 478 0.4764 0.4136 18%

Parameter:

Y & Name
Lichtart P25
Y,=100 Y,=50
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